Worksheet Level 2:

Goals: ,
Identify Rational & Irrational #s Concept
Practice #1
Classify each number as RATIONAL (Q} or IRRATIONAL ()
s
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2
19 N
5 2 43 /96
5 15 6 13
4 4
7} 84 8) -9
9) VT2 10y 0
3 12 3
1) — )
9
13 7 14) -7
15y —4 16} 5
17 -11 18) —14
19y 39 ¢ 20) 9
Practice #2
Tell whether each expression is rational or isrational.
1. -Ved 2. V1600 3. £V 160 4. V144
5. V123 6. V3 7. V196 g VoY
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Practice #3

1. Which set below includes only irrstional munbers?

A JovT3, 378, V36, 4.3858.. }

V5, T3, 82MS1...}

B. 7.2322...,

{-

{-
c{ad‘“amsﬂ}
. {-

—V& A7, 3.265165065 .. 1;%}

!-\J

Which set contuing only irrsional mombers

A =% -V, V3. VTG}

B. {-v&d, VO v, VI3}
C. {-v38, —16, VI, ¥8}

D. {30, VI3, VI, V53]

3. Which set coniins an irrational muuber?

Ao {2300, o4, 8
B. {18, 0.1, ¥}
L 4 V52

D {8333, V4 0}

4. Which of the following is an wratiosal nomber?

A VB B Vil ¢ V4 D Y3

Which of the following is an irrational number?
A% B. v21 C. vl D -407

Which Bst containg only rativnal numbers”

A -4 0L \/;{' B. 0L 158

- i _— .
C. =2 126 /3 D. 6,036 4, V24

What type of number is v267

A Whole number B. Integer

. Rational nomber ). [frpstional nomber

Which number helow is an elernent in the set of
ierational mumbers?

VA, 345, —87, V3

=
o,
[ 9]

—87

=
=
e
Lk
&
e}

Which set of real pumbers contains oaly rational
numbers?

A VI V96, ¥4, 12}
B. {VIE, £ 3. V3
C. [VI&9, 3, VI, #}

D, {vied, .2, Vi
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Unit Conversions Practice

Make the following conversions:

1) Convert 16.7 inches to feet

2) Convert 25 yards to feet (there are 3 feet in a yard)

3) Convert 90 centuries to years

4) Convert 84 miles to kilometers (there are 0.6 miles in a kilometer)

5) Convert 4.75 centimeters to meters

8) Convert 48,987 minutes to days
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7) Convert 27 months to fortnights (there are 14 days in a fortnight and ~30
days in a month) ‘

8) Convert 0.09 miles to inches (there are 36 inches in a yard and 1760
yards in a mile)

9) Convert 4.66 centimeters to miles (there are 0.6 miles in a kilometer)

10) Convert 556 degrees Celsius to Kelvins

11)  Convert 25 Kelvins to degrees Celsius
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I. Mixed Review

Add or subtract.
1. (3% +4x* + 1) + 2x* + 10)

3. (-8x* +4x— 1) — (4x" — x)
5.(9%° = 7% + x) + (6x* + 9x%)

7. (10x% — 8x + 10) -
(6x° + 7x + 10)

9. (8x° + 5x+ 1)+ (10x° + 4xY)
Multiply.

11. 2x(4x” + 5x + 10)

13. (x + )(x + 10)

15. (2 + D)(x* = 5)

17. (x + 1)(x* + 5x + 10)

Divide.
+10x+16) = (x +2)

21 ( —x* +8x—8) + (x—
23.(x* = 27) + (x -

X —17x=9)+ (x+1)

2. (-4x" +3x—1)— (4x+2)

4.(TX° +6x° +x—1)+

(9% + 4x* —x + 10)

6. (5x° — Tx + 10) — (6x* + 8x— 5)

8. (4x' +3x° + 2 + x) +
(3x* — 4%’ + 2x" — x)

10. (17%° + 5x° + x) -
(6%° + 4x> + x)

12. 3% 2x* + 2x + 1)
14, (x + 2)(x—2)

16. (x + 9)(x* + 7x)

18. 2+ 5)x* +2x+ 1)

26. (12x° + 23x* + 10x + 2) =
(3x+2)




I1. Challenge Problems

27. Add: 3%'Y + 2%y + xF + %) + (%) — dxPy - 5" - 6)))

28. P(x), D(x), Q(x) and R(x) are polynomials.
If P(x) is divided by D(x), the quotient is Q(x) with remainder R(x).
What is the value of P(x) in terms of D(x), O(x) and R(x)?

29. If the base of a trlangle 1s given by the expressmn (3x” + 4x) and the
height of the triangle is given by the expressmn (4x* + 4x + 6), what is
an expression for the area of the triangle, in terms of x?

30. Correct the Error
There 1s an error in the student work shown below:
Question: Multiply (3x” + x — 8)(x — 1).
Solution:
(x*+x —8)(x - ) =
—3x° +x? —8x -3x*-x +8
=3x*—-4x? -9x + 8
The answeris X — &°— % + &

What is the error? Explain how to solve the problem.
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Worksheet Level 2:

Goals:
~ |dentify Rational & Irratlonal #s Concept #
Practice #1
Classify each number as RATIONAL (Q) or IRRATIONAL ()
HIVZTI ot (\12«
3 22 svss 2za  Aie T
N - &
19 15
N .. 6 — (4
ns 2l T n-os R
wviz 238 iz I o &
i 2 e 3 &
9
13) 7 = -1 K&
15) —4 e 165 2
1m -1 < 18 -14 &
19 v5e T 09 2
Practice #2
Tell whether each expression is rational ov irrational,
1. -Ved 2 - 2. V1600 =4 3. V1w T 4 Vi V% R
. < + 4o
5. V15 55 6 -V 7. V%6 8. —V0.09
o
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Practice #3

i
O
—VI3, ~3.7%, V35, 4.3858.. }

.{-72322 . V5, V13, samst ..}

-5& Vid, 6.3745, f“}

D. {-JK, 37, 3265165065 ..., v@ﬁ}

2. Which set contdins only irmtional numbers

Aa {“89 “\,z; V’:i m}
Ba {_\‘ffﬁ: V’ﬁa V'Fj. m}
(v, —TG, V3, vE)

C _
. (-3, —vI3, VB, V5%
3. Wiich set contains an irraiional number?

A. {2300, 048, £}
B. {18, 0.1, ¥}
{h 4 =)

D. {0333, V4, 10}

4. Which of the following is an irrational number?

A VIE B Vil ¢ -v'?l

Which set helow includes only instional numbess?

5.

8

7

8.

@

Which of the folowiag is an irrational number?

@m ¢ Jv8 D -4

Which Jist contains only mtlonal numbers?

B. 4,15 V8

D. 0,076 4, v

What type of number is v26?

A, Whole sumber B. [Iuteger

C. Rational number Irmtimia} number

Which number below is an element in the sa of
irrtional awmbers?

\izs 3-“‘5& "&Ts ‘Vfﬁ

A V4 B. 345 € -87

Which set of real aumbers containy only rational
numbers?

A {Jﬁi‘ +196, v, 12}
B. {VEL £ 1 45}

O{mé VI, )

D. (VB. . § VE)

R
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1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

Unit Conversions Practice = Answer Key

Convert 16.7 inches to feet
1.39 feet

Convert 25 yards to feet (there are 3 feet in a yard)
8.3 yards

Convert 90 centuries to years
9,000 years

Convert 84 miles to kilometers (there are 0.6 miles in a kilometer)
140 km

Convert 4.75 centimeters to meters
0.0475 meters

Convert 48,987 minutes to days
34.019 days

Convert 27 months to fortnights (there are 14 days in a fortnight and ~30
days in a month)
57.9 fortnights

Convert 0.09 miles to inches (there are 36 inches in a yard and 1760
yards in a mile)
1.4 x 10°° miles

Convert 4.66 centimeters to miles (there are 0.6 miles in a Kilometer)
2.8 x 10°° miles

Convert 556 degrees Celsius to Kelvins
829 K

Convert 25 Kelvins to degrees Celsius
-248°C
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III. Answer Key

A+ 6xP+ 11
A+ Tx -3

8 —dx* +5x—1
168+ 10x* +9
O+ 6xt 2% + x
—x*—15x+15
4x*— 15x

8. Tx' —x* + 4y

9. 18x  +4x* +5x+ 1
10. 11x° + 9%°

11. 8> + 10x> + 20x
12. 6x* + 6%° + 3%

13. %2+ 11x+ 10

14. x> — 4

15. %" —4x* - 5

16. x° + 16x*.+ 63x
17. 2% + 6x* + 15x + 10
18. 8 + 78 + %+ 10x+5

~1 OGN B LD b

19.x+8
20. x> —2x+ 3
21. 5 +8
22. x*+8x—1

23. 8+ 3x+9

24. x* + 2x + 1 remainder 5

25.x* —8x-9

26. 4x* + 5x remainder 2

27. 7'y - 2%’y — 4xy* — 59°

28. P(x) = DX)Q(x) + R(x)

29. 6x* + 14x° + 26x% + 24x

30. The student incorrectly added +x* and -3x%; the answer should be
38— 2x?—9x + 8.
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